

РЪШЕНИЕ.

Капиталъ отъ 100 гр. за 2, 3, . . . мѣсяца по
2% въ мѣсяцътъ ще донесе:

„	100	за 2 м.	2%	100	
				$\times 2$	
				\hline	2,00=2 × 2=4 гр.— „
„	200	„ 3 „	3%	200	
				$\times 3$	
				\hline	6,00=6 × 3=18 „— „
„	500	„ 4 „	5%	500	
				$\times 5$	
				\hline	25,00=25 × 4=100 „— „
„	1000	„ 6 „	4%	1000	
				$\times 4$	
				\hline	40,00=40 × 6=240 „— „
„	1500	„ 7 „	7%	1500	
				$\times 7$	
				\hline	105,00=105 × 7=735 „— „
„	2040	„ 11 „	3%	2040	
				$\times 3$	
				\hline	61,20=61г.и8п. × 11=673 „—8п.
„	20000	„ 12 „	5%	20000	
				$\times 5$	
				\hline	1000,00=1000 × 12=12000 „—
„	40020	„ 6 „	3%	40020	
				$\times 3$	
				\hline	1200,60=1200-24п. × 6=7203 „— 24
„	25584	„ 8 „	9%	25584	
				$\times 9$	
				\hline	2302,56=2302-22 $\frac{2}{5}$ п × 8=18420-19 $\frac{1}{5}$